Chem. 6A Exam 1 F2007/Dr. Mack
1. Nomenclature (14 points): Name or give the formula for the following compounds:

NaF St Floveride barium iodide Eu T,

CcO zine nitrate "ol f‘”}gﬁ \?%
K5>S copper (II) sulfate ( AA C&C}ﬂ

N,O J by by A Ot e nickel (II) carbonate R} { ©) o
(NH4)3POy4 ff\ AA PR i v et T sodium acetate Mﬁ, C r %;0
FeCl; cesium hydroxide Q‘,{Z’; @H
H,SOs(aq) - lf»«»{:w A Ny ::""’x carbon tetrahydride CH %

Answer the following questions:

1. (5 points) Complete the following calculation. Report your answer with the correct number of significant
figures. (6.02 +5.119 + 0.04218) x (97.1 + 2.9005)

45¢ ﬁ_\_\f\:’o\?-— % 100,0005
4e4 IR (45{3

answer:

2. (6 points) A patient weights 220 Ibs. A medication for this patient has a dosage of 3.5 mg per kg of body
mass per day. What is the total daily dosage in grams of the medication based on this information?
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3.5 points) A Student adds a piece of rock with a mass of 12.05 g to a graduated cylinder filled to 13.5
mL. The final reading on the cylinder measures at 18.6 mL. What is the density of the rock in g/cm>?
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4. (5 points) Determine the number of mm? in 0.52 %,
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answer:

5. (7 points) Calculate the number of chlorine atoms in 24.1 g of iron (IIT) chloride. (162.20g mol)
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6. (8 points) What is the weight percentage’of nitrogen in urea, CN;H40? (60.06 g/mol)
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() (F) KEY.
- t%31 £23 c3a =
= 1 cA: =8 cCax cD> cE:z
m— 2 cA3x ctBx e D2 cE:x
= 3 m@w= cBx cC3 cDz cEx
= 4 cA1 ams= cCa cD2x cE:2
= 5 ay~ cB:x cCzx cD3 cE:x
= 6 o~ cB> cC> cDz cE=x
— 7 cAz e cC3: cD3z cEz
— 8 cAs wB» cCz cDz cE:z
= 9 cA> = cCz cDzx cE>
= 10 Az cBx s cD- -~E=
— e ‘B3 G2 D> Ea
=12 cA2x cBax =®w rD2 Ex
=13 -A. - cC. -D- -E-
=114 cA>- cBzx cCa1 i cE2x
- 15 Az B3 t©Ca =@ cE>
16 cA: w@e cCa cDzx cEo
_l 17 cAz cBa «@= cDx cEa
=18 cA: wEe -0 Do ]
=19 cAax cBa a@e cDz cg2
"— 20 cAz cBo w#m cDo cEax
= 21 mh= cBa cCa cDs> cEa
e 22 cAx B3 w=@e cDax cE3
— 23 cAx wwm cCz cDx cEx
m— 24 cA- d@m cC> cDz cE3
= 25 cA> e cCz cD3z cE:x
= 26 c“A- B> w=@w D31 cE:x
— 27 cA> wmm cC> cDz cE>
m— 28 cA- o cCo oDz cEx
_— 29 wwm cB3 cCz cDz cE:x
w—— 30 cA- cB2x w®= cD> cE2x
=131 cAx cBa3 cC> cDa cE=x
=—=132 cAz cBa cCz ctD> cE=x
=33 cAzx cB3 cCz cDz cE>
=134 cA>- cBa cC= cD= cE=z
=135 cAzx cBa cCo cD= cE=x
=36 cAx cBa cC2 ctD> cE=
== 37 A2 cBa cCa cD> cEa
m—138 cAx cB3 cCz cDz cE:x
=139 cA> cBa cCz cDz cE=>
=140 cA> cBax cCz cD= cE=3
= 41 cA3 cBa cC2 cD> cEza
= 42 cA3 cBax cCz cD2 cE:z
= 43 cA2 ctBax cC3 cDz cE=z
== 44 cA> cBs cCz cDz cEx
= 45 cA> cBx cC> cDz cEx
== 46 cAzx cB3 cCz cDz cE=x
= 47 cAx cB3 ctCz cD> cE=x
= 48 cAz cB> cCz ctDa cE=x
=== A9 cAx cB> cCo2 cDa cE>o
HE 50 cA: cBz cC= cDa cE=x
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